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Part I / 4T 1
Mathematics / U@

If A and B be two finite sets such that the
total number of subsets of A is 960 more
than the total number of subsets of B, then
n(A) —n(B) (where n(X) denotes the
number of elements in set X) is equal to :

1) 2
2 3
3) 4
4) 6

If Ay and M\, are the two values of N\ such
that the roots a and B of the quadratic
equation, A(x?>—x)+x+5=0 satisfy

3+E+ é:O,then )\—;4—)\—% is equal
B a 5 Ay M

to:

(1) 536

(2) 512

(3) 504

(4) 488

If (x+iy)?>=7+24i, then a value of
1 1

(7 + V=576)? — (7 - V=576) is -

1.

I ATN B IRAT A= W EFASF
ol IUAH=I ! §&, B % Hodl ITHL=AI
®1 H& 9 960 37U 8, 1 n(A) —n(B)
(STl n(X), TH=R X & 3Tadl i GE& guiidl
?) TR :

1 2
2 3
4
6

(3)
(4)

A N, T Ay, A T D AF B T fgomdt
HHFT Nx2—x)+x+5=07F H o, B TH

%‘ﬁ3+ﬁ+é=o%ﬁih—;+}‘—§w
B o b

AN
g
(1) 536
2) 512
3) 504
(4) 488

A (x+iy)2=7+24i &, @

1 1
(7 + V=576)* — (7 — V=576)> ol T =M
g

(1) —3i 1) —3i
(2) 2 (2) 2i
3) 6 3) 6
(4) —6i 4) —6i
W/Page 2 SPACE FOR ROUGH WORK / Y% &Td @& U snrg
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Let S be the set of all real values of “‘a’ for
which the following system of linear
equations

ax+2y+5z=1
2x+y+3z=1
y+7z=1
is consistent. Then the set Sis :
(1) equal to R
(2) equal to R—{1}
(3) equal to {1}
(4) an empty set

For all real numbers x, y and z, the

determinant
2x Xy —xz Y
2x+z+1 xy—xz+yz—z2 1+y i iequal
3x+1 2xy—2xz 1+y
to:
1) zero

(

2) -y -2 (z-x
®) (x—y2) (y—2)

@) —x2) (z—x)

An urn contains 5 red, 4 black and 3 white
marbles. Then the number of ways in
which 4 marbles can be drawn from it so
that at most 3 of them are red, is :

AT S, ‘a’ % At Srafas AT Sl T §
forger fau e gt fam

ax+2y+5z=1
2x+y+3z=1
3y+7z=1
T (consistent) 8, T A=A S :
(1) RF AR T
(2) R—{1}% U &
3) {1} % SR &
(4) T f T §

x, y 991 z % 9 IrEafash wemsd & fa,
RIMEED

2% xXy—xz y
2x+z+1 xy—xz+yz—22 1+y
3x+1 2xy—2xz 1+y
TR E
(1) =F(0)

2 @=y -2 (-1
®) (x—yz) (y—2)
4 Y—x2) (z-x)

Teh ol § 5 T, 4 1) 991 3 The & €|
I 39 a0, IS8 Feaw 5 9 4 %9 Ml <1
Tehd € T =T 9 1fus ¥ aifys 3 o
I HER :

(1) 455 (1) 455
(2) 460 (2) 460
(3) 490 (3) 490
(4) 495 (4) 495
W/Page 3 SPACE FOR ROUGH WORK / % & o fdg SnTg
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If the digits at ten’s and hundred’s places
in (11)2916 are x and y respectively, then
the ordered pair (x, y) is equal to :

1) (L 6)
2 61
G) 61
4) L3

Let a;, ay, a3, a4, a5 be a G.P. of positive
real numbers such that the A.M. of a, and
a, is 117 and the G.M. of a, and a, is 108.
Then the A M. of a; and aj is :

(1) 108
2) 117
(3) 144.5
(4) 1455

If the sum of the first 15 terms of the series

FfE (11)2016 H TR AT Hohe oh T T HA:
3Tk x Ty ¥, T BfHd T (x, y) TR T :

1) (L 6)
2 61
G) 61
“4) (L3

AS ay, ay, a5, a, AU ag Teh ETCHeR ST&I(oeh
E’@T@Eﬁﬁﬂuﬁﬂ'{ E I AED a, d¥l a, bl
I AT 117 © a4 a, q1 a, 1 TONR
weF (G.M.) 108 8, T a, T a T THIX
e ©

(1) 108

2) 117

(3) 144.5

(4) 1455

Ife A 3+7+14+24+37+ .. ... & FaH

B34+7+14+24+37+ .. ... is 15 k, then k 15931 T AM 15 k B, A k IR T
is equal to :
(1) 122 (1) 122
2) 81 2) 81
(3) 119 (3) 119
(4) 126 4) 126
W/ Page 4 SPACE FOR ROUGH WORK / T% &Td & feu sme
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10.

11.

12.

i log (sin7x + cos 7x) equals :

x—0

sin 3x

| N3

(1)

—- W

@ =5

(3)

W= W

(4) log7

If the function f: R — R, defined by

ax, x <2

f(X)={

ax? —bux +3, x=2

is differentiable, then the value of
f'(—3)+f'(3) is equal to :

1 3
(2) 4
15
G) >
4) 0

The sum of the abscissae of the points
where the curves,
y=kx?+ (5k+3)x + 6k +5, (keR), touch

the x-axis, is equal to :

19
1) —5
10
2 5
5
®G) 3
4
4 3

10.

11.

12.

log (sin7x +cos7x) qrer ¥ -

lim _
x—0 sin 3x
n L
M 3
, 1
@
3 L
G) 3

1

—log 7
@ jlog

e ®weH f: R — R, S

ax, x <2

f(X)={

ax? —bx +3, x=2

g gftarfea 8, sawadig €,
f(=3)+f'3)FMATT :

1 3
(2) 4
15
G 5
4) 0

3 feigedt & x-Fadurisnt <1 4w, <Rl o
y=kx2+ (5k +3)x + 6k +5, (keR), x—31&1
a?rwsfaﬂ?ﬁ%,%:

19
S
10
2 3
5
G 3
4
@4 —3
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13. Water is running into an underground | 13. T Y &e giid YRR 2ahl, ST 10 H.

right circular conical reservoir, which is el qo fSees 1R =t 5= 5 4. %, o g
10 m deep and radius of its base is 5 m. If SR | Al It o AT ok T H IR
the rate of change in the volume of water . a P
5 \ ety %w 1.3 /f. § a1 <ol &% ®R ¥ e

in the reservoir is 5" m?/min., then the Fi X (. /. ), SR R A
rate (in m/min) at which water rises in it, i
when the water level is 4 m, is :

1 d 1 5

O O

) = 2 =

@ 3 @ 3

3 1 3 1

Ol G

5 2 5y >

@ @ 5

14. The integral j I dx | 14. wHEE I S dx SR
(x* +3x +3)vJx +1 (x* +3x +3)Jx +1
is equal to : g
RUNNEET I S 1| x
W F | Baen | TC 1) FE |\ By | TC
2 -1 I X | 2 -1 | X |
@ F | Barn| € @ FE |\ By |TC
2 et 2 ot A
(3) 7 cot Tl +C (3) Ne cot a1 +C
1 —l_ X\/g | 1 _1— x\/g |
N e I = i @ /|| tC
(where C is a constant of integration) ( & C Teh THTHTH 3ToR 2)
W/Page 6 SPACE FOR ROUGH WORK / T% @& & fag srg

0
edge.dglabs.in ~ +91-9591001000 DQ Labs \f,«\

Design Quotient Labs



"o "4

dx dx

15. The integral T ai5_ isequalto: | 15. HHHA SR ©
1+ 3/tan2x 1+ 3ftan2x
2 24
) = .
M 3 M 3
) o T
@ 1 @ 12
3) - 3 T
G O
) a =
(4) 18 (4) 18

16. If the line, y=mx, bisects the area of the | 16. AfE ¥@I y=my, &

region
{(x,y): 0=x= =, 0=<y=<l+4dx—x7}, then {(x,y): 0=x= =, O=y=T+dx—x V) |
m equals : E AT fa9Td St €, TWm I AE ¢
9 9
1 3 1 3
13 13
@ 5 @ 3
13 13
@G - B &
39 39
@4 15 @ 1g
W/Page 7 SPACE FOR ROUGH WORK / T% & & feu smrg
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17.

The order and the degree of the differential
equation of all ellipses with centre at the

origin, major axis along x-axis and

V3

eccentricity Y= are, respectively :
2

1,1
2,1
1,2

2; 2

18.

19.

If an equilateral triangle, having centroid
at the origin, has a side along the line,
x +y=2, then the area (in sq. units) of this
triangle is :

1) 6

2 643
@ 23
4) 36

The equation of the circle, which is the
mirror image of the circle, X2+ y2 —2x=0,
in the line, y=3—x is :

1)
(2)
(3)

x2+y?>—6x—8y+24=0
x2+y?>—8x—6y+24=0
x2+y?>—4x—6y+12=0

x?+y?—6x—4y+12=0

17.

18.

19.

= et Qeal, e &= g fog €, <
34, x-eﬁaﬁﬁ:snﬁ'%ammmg%,%
SFhel FHIRLOT 1 hife G =1 S ©

1,1
2,1
1,2

2 2

T Yol W@ x+y=2 o # &, @ fe

1 e (e sehred] B) % -
(1) 6

(2) 643

@ 23

4) 36

39 g9 I FHE, ST a2+12—2x=0
1 @l y=3—xﬁ?ﬁ'ﬂ§lﬁﬁ'ﬁl%,%:

(1)
(2)
3)
(4)

x?+y?—6x—8y+24=0
x2+y?—8x—6y +24=0
x2+y?—dx—6y+12=0

x?+y?—6x—4y+12=0
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2 2 . .
20. The product of the perpendiculars drawn 20. <He % + y2—5 — 1 I TR 9 3w fog
2 2
from the foci of the ellipse, r Y 4 3 %
5 > o | G T T W R e T
upon the tangent to it at the point a1 AR © -
3 53
2 2 )i
1 9 1 9
189 ) 18
2) 13 2) 13
(3) 18 (3) 18
4 313 4 313
21. Which one of the following points | 21. i+ # ¥ F19-91 fag Afqmaaa
2 2
does not lie on the normal to the hyperbola, 316—6 - y? =1 % f&g (8,3/3) W E= T
x2 ]/2
E_?:l drawn at the point sl q¥ feerd =@l © 2
(8,3\3)?
1
1 13 ——
13, ——= (1) [ / J
o (o) v
1
1 12, —=
(2) [12, ﬁj @ ( V3 j
(3)  (11,43) () A1V3)
@ (10,43) @ (10,43
W/Page 9 SPACE FOR ROUGH WORK / % &%Td & folq swe
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22,

23.

If the shortest distance between the lines
X+2N=2y=—12z, x=y+4N=6z—-12\ is

42 units, then a value of \ is :
(1)
(2)
(3)

N\ﬁéﬁ“’

(4)

The perpendicular distance from the point
(3, 1, 1) on the plane passing through the
point (1, 2, 3) and containing the line,
— A A A A A

r =1+ ] +NQ2i+ j+4k) is:

(1)

(3)

L
Vi1
4
@
0
3
© m

22:

23.

Ifg sl x+20=2y=—12z,

x=y+4\N=62z—12\ % = AT 30 442
THRE AANHTHATE :

(1)
(2)
(3)

N\ﬁga“

(4)

fdg (3,1, 1) @ Tk ¥Hdd, S feig (1,2,3) @

BHT T Er & 991 g ur @
Y= a4 ] rak) Rt w
1
N
4
@ Ua
3) 0
3
@ m

edge.dglabs.in
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- = — - — -
24. Three vectors a, b and ¢ aresuchthat [ o4 5 wfeyr a, b qagT ¢ T4 ? =
2l [ol =2 [ P P
al=1, |b|=2, [c|=4 and al=1, |bl=2, |c|=4 qu1
:+;+?:6>.Thenthevalueof :4_;_'_?:6)%,??[
- = - - - = - = - > - >
4a‘b +3b-c +3c-a isequalto: 4a‘b +3b-c +3c-a FHAAT:
(1) —68 1) —68
2) —26 2) —26
(3) —34 (3) —34
(4) 27 4) 27
W/Page 10 SPACE FOR ROUGH WORK / T% @& o g <8
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25. Two numbers are selected at random
(without replacement) from the first six
positive integers. If X denotes the smaller
of the two numbers, then the expectation

of X, is:
14
O Y
13
2 =
7
G 3
5
4 3

26. If A and B are two independent events

such that P(A) = 13—0 and P(AUB) = %’

then P(A N B) is equal to :

25.

26.

T : SRl § § < St (fa gfowem
%) TgeSd g M| AR X IA H | Bl
& 1 TSR w4 8, q X HI geamsm
(Expectation) 7

14
S Y
13
2 5
7
G 3
5
4 3

gfe A 991 B S TdS weAW U ® fw
_3 _4
P(A)= o5 T P(AUB) = = 7, dl

P(ANB) SRR T :

1 1
® 3 @3
1 1
@ 79 @) 79
3 3
G 17 G 11
3 3
4 35 4) 35
W/ Page 11 SPACE FOR ROUGH WORK / 1% & & fau STe
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27. A bag contains three coins, one of which | 27. T é@rﬁ?ﬁﬂﬁqa%%, 78 9 T & HI 3R
has head on both sides, another is a biased ford ®, T foaeht AR (biased) T 5@ W
coin that shows up heads 90% of the time o 90% IR Wehe BT & IR dey swHfya
and the third one is an unbiased coin. A foaem g1 91 § 9 T foaen RICCTRINECAG
coin is taken out from the bag at random Y IVTAT T | AT Tk W o Yehe &1,
and tossed. If it shows up a head, then 3HF A faeent S T WTfIehar €
the probability that it is the unbiased coin,
is :

y = N =
(1) 12 (1) 12
8 3]
@ 5 2 o
3 = 3 L
G 3 e 3
3 3
@ 3 @ 3
28. The value of ——— ! is: | 28 ! : 10 2 :
T eV Ol s085° | 3 sin255° 7 © c0s285° /3 sin255° '
1) 2v2 1) 242
5 42 . 442
@ 7 @ 7
2.2 2.2
3) — . ol
@ = e =
@ -2 @ VB-2
W/Page 12 SPACE FOR ROUGH WORK / T% T < felq SiTg
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29.

30.

An observer standing at a point P on the
top of a hill near the sea-shore notices that
the angle of depression of a ship moving
towards the hill in a straight line at a
constant speed is 30°. After 45 minutes,
this angle becomes 45°. If T (in minutes) is
the total time taken by the ship to move to
a point in the sea where the angle of
depression from P of the ship is 60°, then
T is equal to :

(1)  45(1 + /3)
(2) 45(1 + %)
(3) 45(2 + %)

() 4%ﬁ+i%)

Which one of the following statements is
a tautology ?

1) (Pvqg—gq
2) pv(p—9
3) pv(@—rp)

4 p—->@(P—9

29.

30.

T U Tg & Y o e veret @i =t
P TR @l TR Teh SIBTST okl 3199 0T 30°
I | TRTST Ueh THMA =Tl § Tk T 3@ o
IS it AR o7 WI 2| 45 e & 9 =©
IO 45° B STl § | Al 998 H 9% Th g,
Tomept foig P& SRS 1 STFHT 107 60° T,
T T 1 oA g (A #) T® @ T
ERCLE

(1)  45(1 + /3)
(2) 45(1 + %)
(3) 45(2 + %)

(4) 45(1 + %)

1§ § -1 FeH U TRl (Tautolo gy)
g2

1) (Pvag—q
2) pv(p—9
B) pv(@—rp)

4 p—>@{P—9

W/Page 13
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Part I1 / ¥ 11
Aptitude Test / Rr&Ter Tireror

The problem figure shows the top view of an object. Identify
the correct elevation from amongst the answer figures looking

in the direction of the arrow.

Directions : (For Q. No. 31 to 33).

fder: (W31 @33 & @)1 ¥ STFid 7 HEt a%g 1 SR §vF fe@rar &1 dr’ Bt
fowm @t §U ST STF1al F G 3P TE TG 557 g3 |

Problem Figure / H¥7 & ek Answer Figures / 3X 377?77%7#

U iy iy oy
) ) (3) @)

El A A A A

1 (1) ) (3) (4)

W/Page 14 SPACE FOR ROUGH WORK / T% &1 & foag smre
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Directions : (For Q. No. 34 to 36). Identify the correct 3-D figure from amongst the answer figures,

which has the same elevation, as given in the problem figure
on the left.

fAE9r : (9. 34 @36 & for@ )1 3-D IR TFlagl 7 & 39 SFla F TeA 99 F, THE
§¥g J¥T SHid G fert & !

Problem Figure | 97 37&ld Answer Figures /| I 377?7‘@'?7?'

- B L & &
(2) (3) (4)

= SIS G
(2) (3) (4)

- @ @ &
(2) (3) (4)

(1)

Directions : (For Q. No. 37 to 40). Which one of the answer figures is the correct mirror image of
the problem figure with respect to X - X ?
Q9T : (W37 @40 & @) | S STHfTEl § G PiT-T1 STHlT & T 9T STHlT FTX - X G
THSIed el T Fheifer s & 2
Problem Figure /| F¥7 3T@hld Answer Figures /| I 3-77?7'/%/’—#'
X
X (1) (2) (3) (4)
W/Page 15 SPACE FOR ROUGH WORK / ¥& &1 & fau sg
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Problem Figure / ¥ 3fIhid Answer Figures / 3 377?77%/2#
X

X (1) (2) 3) (4)
X
X (1) (2) 3) (4)
X

=) & k& & &
X (1) (2) 3) (4)

Directions : (For Q. No. 41 and 42).  Which one of the answer figures will complete the sequence of
the three problem figures ?

FR3or: (7 41 3iv42 & fom ) ST FIa § @ FI7-T1 STHT T @7 F97 3Hladl § ot
G 3194 (sequence) T & ST ?

Problem Figures / H37 3775‘7‘@'67?' Answer Figures / 3T¢ BWW
O 0 11 0 = 0 —
= =X = ? OXZ OXZ OXZ =X
a2 22D - i i i
(1) (2) (3) (4)
42. ?
(1) (2) (3) (4)
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Directions : (For Q. No. 43 to 45). Which one of the answer figures shows the correct view of the
3-D problem figure after the problem figure is opened up ?

fREor: (7 43 @45 & @) | 3-D F¥9 3Ffd & Gierd W, IR A 9 G G&t §vg
HIT-T 82
Problem Figure | §97 3Thld Answer Figures / 3@ sFHfaar

. f it

(1) (2) 3) 4)

1) 2 (3) (4)

1) (2) (3) 4)
W/Page 17 SPACE FOR ROUGH WORK / T% &4 o foq sre
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Directions : (For Q. No. 46).

39T : (W. 46 & 1@ ) |

Problem Figure / F¥7 37Ighid

46. ;Hﬁ
healhy

Directions : (For Q. No. 47 to 50).

3T : (W 47 @50 & @)

Problem Figure | J97 371t
47.

One of the following answer figures is hidden in the problem figure
in the same size and direction. Select the correct one.

T & T I SHlaA § @ TF 3FHT 7T 3R e 7 gHT w9 9
g7 3Npla ¥ g9 &1 Fi7-41 98t & gw)

Answer Figures / 3T SH T

Cr al [ ]

(1) (2) (3) 4)

The 3-D figure shows the view of an object. Identify the correct
top view from amongst the answer figures.
3-D ¥ 31 U a%g & TF 99 & [S@rn 7 &1 597
T8l ST 59, IR IMFHa B T TEI3

Answer Figures / 3T SH Tt

| ] | L L L L
m n N n
(1) 2) 3) (4)
48.
i mi ] i
(1) 2) (3) (4)
49,
| | | |
(1) (2) 3) (4)
W/Page 18 SPACE FOR ROUGH WORK / T% & @ fou srg
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Problem Figure /337 e Answer Figures / 3¢ 3775‘:7%27?'

50.
@ ) @ ®) @

Directions : (For Q. No. 51 to 53). The 3-D problem figure shows a view of an object. Identify
the correct front view, from amongst the answer figures, looking

in the direction of arrow.

9T : (751 @53 & @)1 3-D §¥7 3Hfd § T a%g F TP 5vF i fo@rar T &1 diw
&1 e 4 3@0 §C 599 GEl T gE §vF il I Hlad 4 G
g |

Problem Figure / F97 37Ild Answer Figures / 3t¢ 377?77%1?‘7?'

51. - - _
% % jf (1) (2) (3) (4)
A7
52. . - - -
| B — =
(1) (2) (3) (4)
7
53. - - - _
] =21 ] H
(1) (2) (3) (4)
7
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Directions : (For Q. No. 54 to 56). The 3-D problem figure shows a view of an object. Identify the
correct front view, from amongst the answer figures, looking

39T : (9.54 @56 & fem@) 1

Problem Figure /| 97 3Thid

54.
™
55.
™
56.
AN

Directions : (For Q. No. 57 to 60).

39T : (4.57 @60 & fo@) 1

Problem Figure /| 97 S7hid

in the direction of arrow.

3-D F¥7 3TFid § T a%g

& TF §¥F &I fq@rn T 81 R

&1 a9 4 3@d §T, 39% Tel TG §¥F &I I SFHaa 4 G

el
Answer Figures / 3¢ SIH T
!_I_E ’_'_II
L |
1) (2)
[ - I_Y_E
- L]

) 4)

L
I

©) 4)

The problem figure shows the top view of objects. Looking in

the direction of the arrow, identify the correct elevation, from
amongst the answer figures.

TvT HTd H TGl F S g9 @ 7w &1 aik #1 faen F
3@t U I STF H G G TR 59T GEI 14 |

Answer Figures / 3 SH T

57.
0% il mlh el
O 5 ]

(1) (2) 3) (4)
)
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Problem Figure / ¥¥7 37l Answer Figures / 3t 377?7‘/3?#

58. y %
[ [ I | [
! () @) ® @
59.
= Mt et M
A\
X X
T (1) (2) (3) (4)
By h mh o e
T (1) (2) (3) (4)
Directions : (For Q. No. 61). From the top view given in the problem figure identify the correct
3-D figure from amongst the answer figures.
AEer : (% 61 & @) & T e emFla F SWI 9T @l Gal 3-D I STHfaal 7 q

T |

Problem Figure / F97 STIhid Answer Figures /| SR sp Tt

61.

5 H DS
(1) (2) (3) (4)
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Directions : (For Q. No. 62 and 63). The problem figure shows the elevation of an object. Identify

the correct top view from amongst the answer figures.

9T : (W 62 363 & fomm )1 g7 FlT § G a%g F TE gvF fe@rar T 81 S

sTrlal B @ s Tel S §v TEHiA |

Problem Figure / H37 eak Answer Figures / 3aX 377?7‘@7#'

62.

63.

PO DG

(1) (2) (3) (4)

! 1 ! !

M @) © @)

Directions : (For Q. No. 64 and 65). Find the odd figure out of the problem figures given below.
9T : (W 64 3065 & fomm )1 713 51 7 g9 ST 7 @ fvT snHla wEEnTd |

64.

65.

> (o () (9
(2) (3) (4)

[ /\ [/

(1) (2) (3) (4)
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66. Which color is obtained by mixing red and | 66. el T8 el &1 fHa™ & I W T 91 § 2
yellow colors ?

(1) Purple (1) S
(2) Pink (2) e
(3) Orange (3) Ha
(4) Brown (4) W
67. Salim Chisti mosque is located in : 67. Wi fadl &1 Hehew el o feerm 72
(1) Gwalior (1) 7o
(2) Fatehpur Sikri (2) Hde faeRd
(3) Hyderabad (3) TER
(4) Delhi (4) Teeedt

68. Temperature of the Earth due to the | 68. dl %1 AI9HF ‘M R Y9’ 9 ¢
‘Greenhouse Effect’ :

(1) Increases (1) ¥eae

(2) Decreases (2) FeA®

(3) Remains constant (3) T 9UME WAl
(4) Keeps increasing/decreasing (4) Sedr/=dr W&l g

69. Vertical sun protectors over wall openings | 69. T&g®l % WY Tl W< YL H&h A TRl

help in cutting off summer sun rays on : ! frg foen & @red © 2
(1) South side (1) <& = WH
(2) West side (2) Uf¥=H Sl W
(3) North side (3) W H WHh
(4) On all sides (4) WIH
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70.  Which one of the following is not a load | 70. F=fafed o ¥ M &1 Wadl § WR I3M a1el
bearing component in a building ? ferm & &2
(1) Column (1) ™
(2) Beam (2) VAR
(3) Partition wall (3) faursH <em
(4) Concrete floor slab (4) <hshie i &Y gfeA
71.  Which type of roof will provide maximum | 71. Ffafad # HH B waHl § T At
protection from heat radiation in a q Teg 3feres FLa <t ?
building ?
(1) Painted aluminium sheeting (1) T TgfafteEm =g
(2) Concrete slab with plaster (2) <hshie AT WIS & HIY
(3) Concrete slab with mud and brick (3) hshie ufean fhgl wd £ 1 TEeH <k
tiles o
(4) Concrete slab, water proofed and (4) ST Eferd, SUFSd § Bkl g8 el
covered with a roof garden gfean
72. Ellora temples are : 72. ool o HiS
(1) Made in marble (1) HTHH 9 sH g
(2)  Built in sandstone (2) I SIS Yo’ S g
(3) Cut out of rock (3) “EMH ¥ e BT g
(4)  Built in wood (4) THSTHATE
73. Gol Gumbaj of Bijapur is : 73.  SISTYL oK1 Tiie] TS
(1) A Fort (1) TF fhemn @
(2) A Mausoleum (2) TUF HFHAU
(3) A Palace (3) THHEAR
(4) A Mosque (4) THARSRE
W/Page 24 SPACE FOR ROUGH WORK / 1% &4 o [T s g

DQ Labs

Design Quotient Labs



74. Buland Darwaza is located in : 74. oc gLATs fohe H fee@ § 2
(1) Fatehpur Sikri (1) hdeR fad
(2) Red Fort (2) e femet
(3) Agra Fort (3) AR = fehedl
(4) Golconda (4) RISl

75. BigBenisa: 75. farsawng?
(1) Clock Tower (1) Hel =
(2) Palace (2) dH&d
(3) Mosque (3) wfiE
(4) Temple 4) Wi

76. IGBC stands for : 76. STE. SIS, fhg 1 ydiw © 2
(1) International Great Beautiful City (1) AR T2 FI IR
(2) Indian Green Building Council (2) WRdE BRA e Ry
(3) Indian Great Building Center (3) YR 9T 9o hg

(4) Indian Government Biological (4) YRAE SRR o &g

Center

77. Solar energy is converted to electrical | 77. ¥& Sell fhy ¥ Tostelt # qRafad st © 2
energy by :
(1) Photovoltaic cells (1) TRIEIceE® Uod
(2) Electro magnets ) foega i
(3) Bio technology (3) SiE YRt
(4) Rain water (4) oS T AT
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78. The ruins of Hampi are located in which | 78. & & @eat ford o9 # fom 2
State ?
(1) Karnataka (1) ek
(2) Andhra Pradesh (2) 7Y gW
(3) Kerala (3) Hd
(4) Tamil Nadu 4) TS
79. What is Venice famous for ? 79. o9 fohg o faT TergR €2
(1) Canals 1) =
(2) Mountains (2) Yad
(3) Valleys (3) wnfeat
(4) Springs (4) =eH
80. Pyramids are located in : 80. fuufie el frea €2
(1) Rome 1) ™
(2) Egypt (2) zfo=
(3) Greece (3) U=
(4) Ethiopia (4) Sferfn
-00o0- -o00o0-
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